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Multiple Choice Question
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If cos 28 + sin 28 = k , then cos 17  is equal to
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The maximum value of 4sin x + 3 cos x +   is
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If  , then   equals to

(a) -2 cosፀ  (b) -2 sinፀ  (c) 2 cosፀ  (d) 2 sinፀ

π < 2θ < 3π
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If tan40 = λ, then   =
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cos1 + cos2 + cos3 +: : : + cos179 =

(a) 0  (b) 1  (c) -1  (d) 89
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Let f (x) =  [sin x + cos x] where x R and k ≥ 1. Then f (x) - f (x) =
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Which of the following is not true?

(a) ​​​​​​sinፀ =   (b) cosፀ = -1  (c) tanፀ = 25  (d) secፀ = − 3
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cos 2ፀ cos 2ф + sin (ፀ - ф) - sin (ፀ + ф) is equal to

(a) sin2(ፀ+ )  (b) cos2(ፀ+ )  (c) sin2(ፀ- )  (d) cos2(ፀ- )
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 is

(a) sin A + sin B + sin C  (b) 1  (c) 0  (d) cos A + cos B + cos C
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If cos pፀ + cos qፀ = 0 and if p ≠ q, then ፀ is equal to (n is any integer)
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If tan α and tan β are the roots of x  + ax + b = 0; then   is equal to
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In a triangle ABC, sin A + sin B + sin C = 2, then the triangle is2 2 2
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(a) equilateral triangle  (b) isosceles triangle  (c) right triangle  (d) scalene triangle

If f(ፀ) = |sin ፀ| + |cos ፀ|, ፀ R, then f(ፀ) is in the interval     

(a) [0, 2]  (b) [1, ]  (c) [1, 2]  (d) [0, 1]
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 is equal to

(a) cos 2x  (b) cos x  (c) cos 3x  (d) 2 cos x

cos6x+6cos4x+15cos2x+10
cos5x+5cos3x+10cosx

The triangle of maximum area with constant perimeter 12m

(a) is an equilateral triangle with side 4m  (b) is an isosceles triangle with sides 2m, 5m, 5m

(c) is a triangle with sides 3m, 4m, 5m  (d) Does not exist

A wheel is spinning at 2 radians/second. How many seconds will it take to make 10 complete rotations?

(a) 10  seconds  (b) 20  seconds  (c) 5  seconds  (d) 15  secondsπ π π π

If sin α + cos α = b, then sin 2α is equal to

(a) b - 1, if b ≤  (b) b - 1, if b >  (c) b -1, if b ≥ 1  (d) b - 1, if b ≥2 2√ 2 2√ 2 2 2√

In a ΔABC, if

(i)    > 0

(ii) sin A sin B sin C > 0, Then 

(a) Both (i) and (ii) are true  (b) Only (i) is true  (c) Only (ii) is true  (d) Neither (i) nor (ii) is true
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If the angles of a triangle are in A.P., then the measure of one of the angles in radians is ___________

(a)  (b)  (c)  (d) π
6

π
3

π
2

2π
3

The value of sin  is ___________

(a)  (b)  (c) 1  (d) 0
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cos 6x - cos 8x = _______________

(a) 2 sin 7x sin x  (b) sin 7x sin x  (c) sin 7x + sin x  (d)  sin7x sin x1
2 2√

 is _______________

(a) cos x  (b) sin x  (c) tan x  (d) cot x

cos3x
2cos2x−1

In any ΔABC, a(b cosC - c Cos B) = __________

(a) a  (b) b -c  (c) 0  (d) b + c2 2 2 2  2

If cos x =     and, then the solutions are _______________

(a) x =   (b) x =   (c) x =   (d) x = 
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If sin(45 ° + 10°) - sin(45° -10°) =  sin x then x is ___________ 

(a) 0  (b) 5°  (c) 10°  (d) 15°
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If tanx =   ,tan y =   then x + y is ____________ 

(a)  (b)  (c)  (d) 
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In a ABC,  = 60°,  = 30°, b = 2  ,c = 2 then a is _______________

(a) 0  (b) 1  (c) 4  (d) 2

△ Â Ĉ 3√

tan 70°- tan 20°= _____________ 

(a) tan 50°  (b) 2 tan 50°  (c) tan 70°  (d) 0
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The value of cos 20°- sin 20° is _______________

(a) positive  (b) negative  (c) 0  (d) 1

The value of tan 1° tan 2° tan 3°...tan 89° is ____________ 

(a)  (b) 0  (c) 1  (d) ∞ 3√

The value of   is ____________ 

(a) 1  (b)  (c)  (d) 
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If cos θ +   sin θ = 2 and θ∈[0, 2π] then θ is _______________

(a)  (b)  (c)  (d) 
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The numerical value of tan 1 + tan 2 + tan 3 = _______________

(a)  (b)  (c) 0  (d) 
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If cos A = cos B and sin A = sin B then _______________

(a) A + B = 0  (b) A = B  (c) A + B = 2nπ  (d) A = B + 2nπ

If   and   are two values of θ obtained from the equation a cos θ + b sin θ = c then the value of   is _______________

(a)  (b)  (c)  (d) 
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If A, B, C are in A.P and B =   then tan A tan B tan C = _______________

(a) 1  (b) -1  (c) 0  (d) None
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If  ,   _______________

(a)  (b)  (c)  (d) 

sec x + tan x = k cosx =

+1k
2

2k

2k

+1k
2

k

+1k
2

k

−1k
2

The length of an arc of a circle of radius 5cm subtending a central angle measuring 15° is _____

(a) cm  (b) cm  (c) cm  (d) cm5π
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cos1 + cos2 + cos3 +...cos179 =_______

(a) 0  (b) 1  (c) -1  (d) 89
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Assertion (A) : cos x =   and 0 .

Reason (R) : cos is negative in the first and fourth quadrant only.

(a) Both A and (R) are true and (R) is the correct explanation of (A)

(b) Both A and R are true but (R) is not the correct explantion of A  (c) A is true R is false  (d) A is false R is true
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Choose the incorrect pair:

(a) sin x in II  quadrant  (b) cos x in I  quadrant 1  (c) sec x in II  quadrant -2  (d) tan x in III  quadrant20nd st st rd

Find the odd one out of the following

(a) ab sin C  (b) bc sin A  (c)  (d) 1
2
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Find the incorrect pair

(a)  - 2R  (b)  - cos A  (c)  - tan  (d)  - cos C= =a
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Choose the incorrect statement

(a) sinx lies in the interval [-1, 1]  (b) cos x lies in the interval [-1, 1]  (c) tan x lies in the interval (- , )

(d) cos x lies in the inverval [-1, )
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If the axes of same lengths in truo circles subtend central anglec 30  and 40  find the ratio of their radii _______________o o
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(a) 3: 4  (b) 4 : 3  (c) 7 : 12  (d) None of these

_______________
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 If  cos θ + sin θ = 2 then θ =3√
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The smallest value of   satisfying the equation  _________

(a)  (b)  (c)  (d) 
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The value of tan90° is :

(a)  (b) 0  (c) 1  (d) 3√
2

∞

48)

49)

50)




